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B. Tech. EXAMINATION, Dec. 2013
[lird Semester Old Scheme (Re-appear Only)|

CE
SURVEYING
CE-203
Time : 3 Hours Masimum Marks : 100

Relore answering the Question Paper candidates should
ensure that they have been supplied the corrcct and
complete Question Paper. No complaints in this regard,
will be entertained after the examination.

Note: 1. Attempt any five questions,
2. All questions carry equal marks

3. Assume any suituble data, if required,

(@) Discuss basic. principles of surveying. The
magnetic hearing of a line PQ is 124%35". Find
its tme bearing, if the magactic bearing is
1010 10
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Tn order to find the width of a river, two points
A and 18 were taken on ane hank so that AB is
approximately paralic] to the river, A well
defined point € on the other side was marked
With an adjustable cross staff. angle BAC = 40
and angle ABC =55 were measured. Find the
width of the river if AB=200m. 10

2. What is principal of plane tabling? Compare the

radiation and intersection method of planc tblc

surveying and give an cxample of the most

desirable spplication of cach. 2

3. (2) Discuss loveling difficultics which will come

m

®

while ascending or descending a hill s

Ihe following consecutive reading were taken
with 2 dumpy level and 4 m leveling stalf on
a2 continuously sloping ground at 30m
intervals:

0.650,1.455,1.85
602265, 3.540,0 83

0.2.8853.380,1 055,18

0.945,1.530 nd 2.250.
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() Rule out a page of the level hook and cr

the above readings.

() Carry out the reduction of eights by the

L1 methad and apply the usial checks

4. Discuss various methods of tacheomelry. The
stadia readivgs with horizontat sight on a vertical
Staff hetd SOm from @ lacheometer were 1.285m
and 1780m. The focal lengh of the object ghuss
was 25em. The distance between the objeet gluss
and the vertieal axis of the tacheometer was 1Scm

0

Calealate the stadia intery

S (@) What are various methods of liying oul o

carve? tixplain offset front tangent method. 10

() 11 the radius of a curve is 380m, what is the

deree designation on a 30m anc? 0

6. () What dao vou mean by well conditioned

wringle? I triangle ABC, AB is the base line

2 3 .10,



[image: image4.jpg]and the threc angles A, B and C are 75°, 75°,
30° respectively. Find the strength of figure. 10

®) Discuss pupose and  classification of
teiangulation, 10

- Whal is a contour? What are the characteristics of
contours? Draw contour profile for Ridge linc.
Discuss contouring methods with brief procedures,

20

What is a closing crror? How one can remove this
CrTor? An obscrvation from 2 traverse sheet for 2
closed traverse is given below. Balance the traverse

by transit rule 0
Line | Length | Lutitude [ eparmure|
AB [ 150 | 17330 10000
BC | 120 [ |
(<) 110 866 50.0
DE | 100 250 00 |
EA 2w | isis] amen ]

4 800




